CSE 160 Section 1 Problens

1. For each expression, wite the resultant value and the data type of
the value (for instance, |nteger)

a. 42
b. 42 +91/ 3.0
c. 42/ 5+ 2.0
d. True
e. 42 < 45
f. not 42 < 91
g. "What does the fox say?"
h. float(3) <9
2. For each list wite an equivalent range() call. For each range() cal

give the corresponding |ist.

[0,1,2,3]
[-4,-3,-2,-1,0]
range(0, 10, 2)
range( 2, 11, 3)

[ 25, 20, 15, 10, 5, 0]
range( 1000, - 100, - 100)
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3. Wite the output to the foll ow ng program

for value in [1, 3, 5]:
print value + value ** 2

4. Wite a for loop that will print the result of multiplying 3 by the
nunbers 8 through 12. The exanple solution is two Iines |ong. Your
out put shoul d read:

24
27
30
33
36

5. Wite the output to the foll ow ng program
for i inJ[1, 2, 3]:
for j inJ[1, 2, 3]:
print i + ]
6. Wite the output to the foll ow ng program
sum= 0
for i inJ[1, 2, 3]:
for j in[1, 2, 3]:
sum = sum +

print sum



CSE 160 Section 1 Solutions
1. Solutions appear bel ow

42. integer

72.333 fl oat

10.0 fl oat

True bool (or truth val ue)

True bool (or truth val ue)

Fal se bool (or truth val ue)
"What does the fox say?" string
True bool (or truth val ue)
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2. Possible solutions appear bel ow

range(25,i,-5) where i is one of [-1,-2,-3,-4,-5]
[ 1000, 900, 800, 700, 600, 500, 400, 300, 200, 100, O]

a. range(4) or range(0,4,1)

b. range(-4,1) or range(-4,1,1)
c. [0,2,4,6, 8]

d. [2,5, 8]

e.

f.

3. The output appears bel ow
2
12
30
4. Possible solution appears bel ow.

for value in [8, 9, 10, 11, 12]:
print 3 * val ue

or

for value in range(24,37,3):
print val ue

5. The out put appears bel ow
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6. The output appears bel ow

18



